8,104

8,104 Water flows downward through a vertical smooth —
pipe. When the flowrate is 0.5 f*/s there is no change in pres- OIE
sure along the pipe. Determine the diameter of the pipe.
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From Fig. 8.20 wifh 7 =0 we have f= f(Re, 5 =0)

Trial and error solvtion : 3 vnknowns (D, Re f) and 3 eqvatjons

((2),43), 44d Fig. 8.20)
Assume f=0.02 so from Eq () D=0./66ft and from
Eq.(), Re=3.18x10*. Thus, from Fjy.8.20, f=0.0/¢ #0.02

Assome f=0.01% so that D =0./554 and Re =3 #2x10*

Thvs, from Fiy, 8.20 fe0.14 which checks with the
assvmed valvs.

Thos, D=0.155
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